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AHATUTHYECKHE PEKOMECHAAUU:
Pa3padoTka naeHTHPUKATOPOB MHBAJIHUIHOCTH C UCIIOJIb30BAHUEM
cuHTakcuca SPSS PacivpeHHOro onpocHuka BanmmHItoHCKomn
rpynibl N0 GyHKIHOHAJIBHBIM cliocoOHOocTsaM (BI'-PO)

BBeaenue

Kak u B cimyuae ¢ Kparkum onpocaukom BI™ o
¢byHKuIHOHATBHBIM criocoOHOCTM (BI'-KO), ananu3 oTBeToB
pacmmpenHoro Habopa BornpocoB BI' mo GpyHKIIMOHAIBHBIM
ciocobHocTsIM (BI'-PO) Takske 1o3BoJisieT MOIy4YUTh HECKOJIBKO
UACHTU(PUKATOPOB MHBATMIAHOCTH ITyTEM BBIOOpA TIOpOTa
TSKECTH Uian otcedenns. Onaako cuaTakcuc SPSS,
IIPEJCTABJICHHBIN HUXKE, Pe1yCMaTpUBAET BHIYHUCICHHUE
UACHTU(PUKATOPOB MHBATUAHOCTH C UCIIOIB30BAHUEM
pa3ianuHbIX HabopoB qoMeHoB BI'-PO u pexomenryemoro
1opora Jyis MeXJyHapOJAHbIX CPaBHEHUH (OIMCAHO HUXKE).

JIJ1s KaXKI0ro U3 OMMCAaHHBIX UICHTU(PUKATOPOB UHBAIUIHOCTH
YPOBEHb BKIIFOUEHHUSI — 3TO HAJIM4YUE, [10 KpailHel Mepe, OAHOTrOo
nomena/Bonpoca ¢ orBetoM UCIIBITBIBAIO BOJIBIINE
3ATPYJJHEHUSA nnn HE MOT'Y OTO AEJIATD — winu —
JU1si [IoMeHoB TpeBokHOCTH, Jlenpeccusi, bonb u Ycranocts,
caMblif BEICOKMH YpOBEHb 3aTPYTHEHUH IO YEThIPEX 0aUIbHOM
LIKaJIE.

Kaxxaprit u3 yeTbipex uaeHTU(HUKATOPOB WHBAIUIHOCTH,
OIMMCAHHBIX B 9TOM NOKYMCHTE, OIIPCACIIACTCA IIYTEM BI)I60pa
JTOMEHOB ()YHKIIMOHHPOBAHUS, BKJIIOYAS:

BI'-KO: Kpamxuii onpocnuk: 6 ToMEHOB, 6 BOITPOCOB.

BI'-PO 1: Pacwupennviii nabop: 11 1oMeHOB, 25 BOIIPOCOB.

BI'-PO 2: Mooughuyuposannwiii pacuiupennsiii Habop (BT -
PO MUHYC bonb u Ycranocts): 9 nomenos, 20 BOIpoCoOB.

BI'-PO 3: Vcosepuencmesosannuiii kopomkuii nabop (BI'-
KO IUTIOC Bepxnsis yactb Tena, TpeBOXKHOCTb U
Jenpeccus): 9 nomeHoB, 12 BOIIPOCOB.

HcnoanureabHbie JOKYMEHTDI

BalmiMHITOHCKOW IPYIIBI
OXBaTbIBAIOT HHCTPYMEHTHI,

pazpaborannapie BammHT TOHCKOM
TPYIIION MO CTATUCTHKE
naBasHHOCTH (BIY) myst c6opa
JAHHBIX 00 HHBAJIUAHOCTH,
COIIOCTaBUMBIX Ha MEXIYHApOIHOM
YpPOBHE, IIPHU MIPOBEICHUH NEpenuceit
u obcnenoBanuil. B aTux
JIOKYMEHTaX paccMaTpUBaOTCS
Jy4IIre MPAaKTUKH [0 TPUMEHEHHUIO
Kpatkoro onpocHuxka,
PacmupenHoro onpocHuka,
Kpartkoro onpocHuka

— YCOBEPIICHCTBOBAaHHOW BEPCHUH,
Hetckux QyHKIMOHATIBHBIX MOIYJIEH
BI/FOHUCE® nns Bo3pactos 2—4 u
5-17 ner, a taxxe moaynst BI/MO-
PCHU MOT 1o uHBaJIMIHOCTH U
Ipyrux nHcrpymeHToB BI'. Tematuka
BKJIFOYAET MPOOIEMBI ITIepeBO/Ia,
OIIpeiesICHIE BOIIPOCOB,
AHAIMTUYECKHE PEKOMEHIALHH,
MIPOrpaMMHBIN KOJ [UIsl aHaJI13a,
HCII0JIb30BaHNE HHCTPYMEHTOB TS
BbIJIETICHHSI TOATPYII U MHOTO€
Ipyroe.

Jpyrre NCTIOTHUTEIBHBIE
nokymeHTsl BI' 1 Gonee
noipoOHast nH(popMAaIus
HaxoJsTcs Ha caiite
BammHIrrtoHcKo# rpymnms:
http://www.washingtongroup-

disability.com/.

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine

Crp. |1

10 CTATUCTUKEC UHBAJIMJIHOCTHU HepeﬁﬂHTe Ha CauT:
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NPUMEYAHUE: g ananusa 1aHHBIX UCMOJIb3yHTE Bamm cTaHIapTHBIE METO/IbI B3BEILIUBAHUS U
OILICHKH.

Cunrakcuc SPSS ocHoBaH Ha memkax nepemenHwvix, yka3aHHBIX B Tabnuiie Hike. [lomubiit momyns BI'-
PO conepsxut Gosbiie BOIPOCOB, YeM yKa3aHo B 3Tou Tabiuie. CTaTyc MHBATUAHOCTH ONIPENCsSeTCs
TPYJIHOCTSIMU B BHITIOTHEHUN OCHOBHBIX YHUBEPCATIBHBIX NEHCTBUHN Oe3 UCTIOIb30BaAHUS
BCIIOMOTATENILHBIX MPUCIIOCOONICHMI Wit Apyroi momon. Hampumep, ecTh HECKOIBKO BOIIPOCOB,
CBSI3aHHBIX C MOOMJIBHOCTBIO, KOTOPBIE OMPEAETSIOT TPYAHOCTH MPU X0Jb0€ ¢ UCTIOIB30BaHUEM
MIOMOIIIH. DTH BOMPOCHI HE BKIKOYEHBI B MPEICTABICHHBIN 3/1€Ch aHAIMTUYECKUH TU1aH, OJHAKO OHU
MOTYT OBbITh UCTIOJIB30BAHBI B IPYTUX aHAIIN3aX, T1ie OoJiee MoIpOOHO H3y4aroT BIUSHHUE HA
(YHKIIMOHMPOBAHNE BCTIOMOTATENILHBIX MPUCTIOCOOIeHNH (0€30apbepHOil OKPYKAIOIIEH CPEIbI).

[Ipu onpeneneHny UACHTU(HUKATOPOB HHBAIUIHOCTH UCTIOIB3YIOTCS TOIBKO Te
BOIIPOCHI/TIEPEMEHHBIE, KOTOPBIE IIPUBEACHBI HIXKE. Y 0eanuTech, 4YTo Bbl ncnosb3yere Te ke
memxu nepemennvix UWIN n3mennte cuarakcuc SPSS, 4To0b1 oTpamxkars memixu
nepemennsix B Baueii 6aze 1aHHbIX.

BI'-KO sBnsiercs yactbio HarmonansHOro aHkeTHpoBaHuUs 1o BoripocaM 3710poBbst (NHIS) CILIA.
JlaHHbIE, UCTIONIB30BaHHbIE JIJIS IOATOTOBKY 3THX pekoMeHaauui, B3sa1el u3 NHIS 3a 2013 roa.

Ilpumeuanue ona nonvzosameneir NHIS: umena nepemennvlx 6 (hailie OaHHbIX U OOKYMEHMAyuUu
NHIS moeym omauuamoecs om mex, umo ucnonv3yromes 6 smom OOKyMeHme, HAnpumep, nepemeHHasl
oomena camooocayxcueanus, ynomunaemas kaxk SC-SS 6 smom oOokymenme, 6 ¢haiinie OamHbIX U
ooxymenmayuu NHIS nazvieaemcs UB_SS.

Merka Bapuantsl
Bonpocei/noMeHbl paciiupeHHoOro onpocuuka BI' N
NepeMeHHOH | 0TBETOB

3PEHHUE
1. UcnbiThIBaeTe Jin Bbl TpyaHOCTH €O 3peHueM Ja:Kke NPU HOLLIEHUH VIS_SS 1
04KOB?
OBILIEHUE
2. UcnbiThIBaeTe Jin Bbl 3aTpy/iHeHHs IPU YCTHOM O0LIEHU U

(HanpuMep, YTOObI MOHUMATH WJIN ObITH OHATHIM)? COM_SS 1
CJIayxX
3. UcnbiThIBaeTe JIU Bbl TPYIHOCTH €O CJIYXOM JIasKe NPHU HEAR_SS 1
HCNO0JIb30BAHUM CJIYX0BOI0 annapara?
4. Tpyano au Bam ciabplmiath pa3roBop ¢ OJHUM 4YeJI0BEKOM B THXOM HEAR_3 1
KOMHaTe?
S. Tpyano jiu Bam ciblaTh pasroBop ¢ OJHUM Y€J10BEKOM B HEAR_4 1
IIYMHOMH KOMHare?
INIO3HAHHUE
6. UcnbiThiBaeTe jiu Bbl 3aTpyAHeHNs NPH 3alIOMUHAHWN HJIU COG_SS 1
KOHIEHTPAIlM BHUMAaHHsA?
7. UcnbIThiBaeTe JiM Bbl 3aTpyAHeHNsI PH 3aIOMHUHAHUH HJIH COG_1 2
KOHIIEHTPaluH, UJIH B 000X caydyasix?
8. Kak yacro Bbl ucnbITbIBaeTe 3aTpy/IHeHUs IPH 3aIOMUHAHUN ? COG_2 3

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:

Crp. |2 http://www.washingtongroup-disability.com/.



http://www.washingtongroup-disability.com/

9. Kakoe Koim4ecTBO npeaMeroB Bam TpyaHo 3an1oMHUTH?

COG 3

CAMOOBCJIYKUBAHUE/BEPXHASA YACTD TEJIA

10. UcnbiThiBaeTe 11 Bol 3aTpyaHenns (¢ camoo0cIy;KUBaHHEM,
HANpuMep) ¢ yMbIBaHHEM HJIN OJleBaHueM?

SC_SS

11. UcnbiThIiBaeTe Jiu Bol 3aTpyAHEeHUs], YTOObI MOHSATH 2-
JUTPOBYIO OYTHLIKY BOJIbI OT TAJIUH 10 YPOBHS 1J1a3?

UB_1

12. Hackoibk0 Bam TpyIHO MCIIOJIB30BAaTh PYKH M NAJbIbI?

UB 2

IHOABUXHOCTD

13. UcnibiThIBaeTe Ji Bbl 3aTpyAHEeHUs: IPU X01b0e WJIN
MOIHUMASICh 110 CTYNEHbKaM?

MOB_SS

14. Tpyauno 1u Bam npoiitu 100 sipaos (91 M) no poBHoi
MOBEPXHOCTH 0e3 NOCTOPOHHEH MOMOIIH HJIH 0e3
BCIIOMOTraTeJIbHOI0 000PY/10BaHUA?

MOB_4

15. Tpyauo a1u Bam npoiitu 1/3 muau (536 M) no poBHoii
MOBEPXHOCTH 0€3 MOCTOPOHHEH MOMOIIM WK 0e3
BCIIOMOTaTeJIbHOT0 000PY/10BaHUA?

MOB_5

16. UcnbiThIBaeTe 1M BbI 3aTpyAHEeHUs, YTOObI
MOJHATHCSH MJIM CIIYCTUTHCA HA 12 cTyneHek?

MOB_6

IMOIMOHAJIBHOE COCTOSHHUE (TPEBOKHOCTD)

17. Kak yacTo Bbl uyBCcTBYeTE ce0s1 B3BOJJHOBAHHBIM, HEPBHBIM HJIH
BCTPEBOKEHHbIM?

ANX_1

18. HackoJibko cui1bHO Bbl uyBcTBYeTe ce0si B3BOJTHOBAHHBIM,
HEPBHBIM WJIH BCTPEBOKEHHBIM?

ANX_3

IMOIMOHAJIBHOE COCTOAHHUE (AEITPECCHSA)

19. Kak yacro Bbl uyBcTBYeTe ceds1 B fenpeccun?

DEP_1

20. HackoJIbKO CHJIBbHO Bbl 4yBCTBOBAJIN ce0s1 B IeNPeccuu
nocjeaHui paz?

DEP_3

BOJIb

21. Kak yacto Bsl wyBcTBOBaIM 6016 32 TIOCIIEIHUE 3 MecsIa?

PAIN_2

22. HackonbKo CHIIbHOH Oblia 60J1b B MOCIIEIHUHN pa3, Koraa Bel ee
HCTIBITHIBAITH ?

PAIN_4

YCTAJIOCTbD

23. Kak vacro 3a nocneanue 3 mecsa Bel onrymani CUIbHYO
YCTaJIOCTh WJI UCTOIICHHUE?

TIRED 1

24. Kak 10aro ATUIOCH OIYIIEHUE YCTAIOCTH WK UCTOIICHHUS B
MoCJIeIHUN pa3?

TIRED_2

25. HackosbKO CHIIBHBIM OBLIO OLIYIICHUE YCTAJIOCTH HIIH HCTOIICHHS B
nocyeHui pas?

TIRED_3

MMPUMEYAHHUE:
(BT-KO).

Kpacubim ormedensl Boripocbkl Kpatkoro onpocHuka BammHrtoHcko# rpynmst

Bce 25 Bonpocos Bkitouenst B BI'-PO 1.

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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Bormpocsl, BbIZieeHHBIE KPACHBIM TUTFOC CHHUM TUTIOC 3eJIeHbIM I[BETOM, BKIIFOUEHHI B
BI'-PO 2. Bornipocsl, BbIJIETIEHHbIE KPACHBIM TITIOC 3eJIeHBIM I[IBETOM, BKJIIOUeHbI B BI'-

PO 3.
BapuaHTbI OTBETOB!:
Oopa3zen 1 Oo6pa3en 2 Oo6pa3sen 3 Oobpa3zen 4
1 | He ucnosiTbiBato 3aTpyAHEHUS TOJBKO MPU WNuorna Hemnoro
3aTpyAHEHUI 3allOMUHAHUU PEJIMETOB
2 | da, uctipIThIBAIO 3aTpyIHEHUS TOJIBKO MpU Yacro MHoro
OnpeJIeIIeHHbIE KOHLIEHTpALUH
3aTpyAHCHUS
3 | [la, UCTIBITHIBAIO 3aTpyIHEHUS U C [TocTosiHHO [TouTn BCe
OoJbIlve 3aTPyJHEHUs] | 3aTIOMUHAHUEM, U C
KOHILIEHTpaLHen
4 | He mMory 310 nenaTh
7 | OTKa3bIBatOCh OTBEYATH
8 | He ycranoBneHo
9 | He 3naro
Oopa3zen 5 Oopa3zen 6% Oopa3zen 7 Oopa3zen 8
1 | EcxxenneBno Hewmnoro Hwuxorna YacTts 1HS
2 | OnuH pa3 B HEACIIO MHoro B Hekotopeie Bbosnbiyto yacth
JTHU JIHS
3 | OmuH pa3 B MecsIl Yro-TO cpenHee MEex Iy bonemmHcTBO | Bech nenn
«Hemuoro» u «MHoro» nHen
4 | HeckonbKo pa3 B TroJ Kaxnprii nens
5 | Hukorna
7 | OTKa3bIBAIOCH
OTBEYATh
8 | He ycranorieno
9 | He 3Haro

* OBPATUTE BHUMAHMUE, UTO B TIPEJACTABJIEHHOM HU/KE CUHTAKCHUCE B
ITYHKTAX C OBPA3IIOM OTBETOB 6 (ANX_3, DEP_3, PAIN_4 U TIRED_3)
PEKOMEHAYETCHA YKA3BIBATDH «HTO-TO MEXAY» JIsA YUCJTEHHOU

XAPAKTEPUCTUKHU OT «<HEMHOI'O» 10 «MHOTI'O».

BI'-KO saBasgercs gactsio BI'-PO. B BI'-PO
JI00aBJICHEI:
JIOTIOJTHUTEIIHHBIC BOTIPOCHI K 6 YK€ CYIIECTBYIOIIMM JOMEHAM U

JOTIOJTHUTEIbHBIE IOMEHBI (HEKOTOPBIE C HECKOJILKHMMH BOIIPOCAMH).

Cunrakcuc SPSS, npencraBneHHbIN HUXKE, BKIIIOYAET B €051 HECKOJIBKO 3JIEMEHTOB, XapaKTePHBIX
ToabKko qug BI'-PO.

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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Bo-nepBbIX, BaXKHO OBLJIO ONPENENINTh OT/AEIbHbIE JOMEHHbIE HICHTU()UKATOPHI AJIS TEX IOMEHOB
(YHKIMOHUPOBAHUS, KOTOPBIE BKIIOUAIN HECKOJIBKO BompocoB. Hanpumep, GyHKIIMOHMpOBaHNE
BEpXHEH YacTu Teja BKIIOYAeT B ce0s 1Ba BONPOCA, KAKABIM U3 KOTOPBIX MOPa3yMeBaeT
KOHKPETHBIE Y YHUKAJIbHBIE ICHCTBUS: 3aTPpyAHEHUS B IOAHUMAHUU OYTBIIKH C BOJOW OT TaJIUU J10
YPOBHSI IJ1a3 (pyKH/IJIEUn) U 3aTPYAHEHUS B UCIIOJIB30BAHUU PYK U MajiblieB. DTH JBa BOIIpOca ObUIH
MPOAHATM3UPOBAHBI M 0OBEANHEHBI TSI ITOJTyYEHHsI OTASIFHOTO WHANKATOpA 110 BEPXHEH YacTH Tela
C YETBIPbMS YPOBHSIMH 3aTPyAHEHUM, HAUMHAs OT | — HU3KUH ypOBEHb 3aTPYAHEHUHN 10 4 —
BBICOKHMI YPOBEHB 3aTPYJHEHHUI. DTO MaJIO YEM OTINYAETCSA OT KATErOPUIHBIX OTBETOB Ha OTAEIbHBIC
Bonpocel BI'-KO: «He ucnpiTbiBaro 3atpyiHeHuin», «ICIBITHIBAIO ONpPEAEIEHHBIE 3aTPY IHEHUSY,
«HcnpiThIBato Oosbmue 3arpyaHeHus» U «He mory ato nenatey. Kak u mis nomena Bepxueit yactu
tena, y tomeHoB BI'-PO Koruutusneie ¢pynkuuu, TpeBoxuocTs, enpeccus, bonb u Yceranocts
00pasiibl OTBETOB MMEIOT PAa3HbIM XapakTep M HEJIETKO «IEePEBOIATCS» B OOBIUHBINA 00pa3el oTBeTa
BI'. st 5TUX 1oMeHOB (DyHKIIMOHMPOBaHUs ObUIa pa3paboTaHa U aHHOTHPOBAHA aHAJIOTMYHAs
YETBIPEXYPOBHEBAs CXeMa OTBeTa co mKanoi 1—4, rae | — caMblii HU3KUIN ypOBEHB 3aTPyAHEHNUH, a 4
— CaMbIil BBICOKH.

BO'BTOprX, ObLTH OLCHCHBI ITOKA3aTCJIN 110 OTACIIbHBIM JOMCHAM JIsL OIIPCACIICHUA

COOTBCTCTBYIOIIHX OI' paHI/I‘-IeHI/Iﬁ JUIA BKIIFOUYCHUSA B O6H.[Hﬁ I/II[eHTI/I(i)I/IKaTOp HUHBAJIMJHOCTHU — B
oeJIAX OUCHKH PAaCIIPOCTPAHCHHOCTH U JCJICHUA HA IMOATrPYIIIIbI IoKa3aTeseH cTaTyCa MHBAJIMAHOCTH.

NPUMEYAHHUE:

Jlns Bcex mepeMeHHbIX Kojibl (7) Omrnoneno, (8) He ycmanosneno u (9) He 3naio nepekoaupyoTcs B
Omcymcmeyem.

SPSS WG Extended Set Syntax Annotated with Qutput Tables

Actual SPSS syntax is indented and the commands are in BOLD text.

NOTE: For data analysis, use your standard weighting and estimation techniques.

The syntax below produces frequency distributions on individual domain questions — cross-
tabulations on multiple domain questions, and calculates INDICATOR variables for domains with
multiple questions — for use in the determination of disability identifiers.

VISION

Step 1. Generate frequency distribution for Vision domain.

VIS_SS is the WG-SS Vision question.
No recoding — the Short Set question is used in the determination of disability identifiers.

FREQUENCIES VIS_SS

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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VIS_SS

Valid Cumulative
Frequency Percent Percent Percent

Valid |No difficulty 13690 79.0 81.6 81.6
Some difficulty 2708 15.6 16.2 97.8
A lot of difficulty 333 1.9 2.0 99.8
Cannot do at all 36 2 2 100.0
Total 16767 96.8 100.0

Missing 559 3.2

Total 17326 100.0

COMMUNICATION
Step 2. Generate frequency distribution for Communication domain.

COM_SS is the WG-SS Communication question.
No recoding — the Short Set question is used in the determination of disability identifiers.

FREQUENCIES COM_SS

COM_SS
Valid Cumulative
Frequency Percent Percent Percent
Valid No difficulty 15874 91.6 94.7 94.7
Some difficulty 745 4.3 4.4 99.2
A lot of difficulty 94 5 .6 99.7
Cannot do at all 43 2 3 100.0
Total 16756 96.7 100.0
Missing 570 3.3
Total 17326 100.0

HEARING

Step 3. Generate frequency distributions and cross-tabulations for Hearing domain questions and
determine Hearing Indicator

HEAR_SS is the WG-SS Hearing question.
HEAR_3 is Difficulty hearing conversation with one person in quiet room.
HEAR_4 is Difficulty hearing one person in noisier room.

FREQUENCIES HEAR_SS HEAR_3 HEAR_4.

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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HEAR_SS

Valid Cumulative
Frequency Percent Percent Percent

Valid  No difficulty 13680 79.0 81.6 81.6
Some difficulty 2753 15.9 16.4 98.0
A lot of difficulty 310 1.8 1.8 99.9
Cannot do at all 23 | A 100.0
Total 16766 96.8 100.0

Missing 560 3.2

Total 17326 100.0

HEAR_3: Difficulty hearing conversation with one person in quiet room
Frequency Percent Valid Percent Cumulative Percent

Valid  No difficulty 15249  88.0 91.0 91.0
Some difficulty 1316 7.6 7.9 98.9
A lot of difficulty 162 9 1.0 99.9
Cannot do at all 10 1 1 100.0
Total 16737  96.6 100.0
Missing 589 3.4
Total 17326  100.0
HEAR_4: Difficulty hearing one person in noisier room
Frequency Percent Valid Percent Cumulative Percent
Valid  No difficulty 11697 675 70.0 70.0
Some difficulty 4191 24.2 25.1 95.1
A lot of difficulty 779 4.5 4.7 99.7
Cannot do at all 48 3 3 100.0
Total 16715  96.5 100.0
Missing 611 3.6
Total 17326 100.0

Step 4. For Hearing questions, recode Hear_3 and Hear_4 to value 4 (cannot do at all) if Hear_SS is 4

(Cannot do at all).

The syntax below recodes Hear 3 and Hear_4 to 4 (cannot do at all) if Hear_SS is 4 (cannot do at all).

IF HEAR_SS = 4 HEAR 3 =4.
IF HEAR_SS = 4 HEAR 4 =4.

FREQUENCIES HEAR_3 HEAR_4.

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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HEAR_3: Difficulty hearing conversation with one person in quiet room
Frequency Percent Valid Percent Cumulative Percent

Valid  No difficulty 15249  88.0 91.0 91.0
Some difficulty 1316 7.6 7.9 98.8
A lot of difficulty 162 9 1.0 99.8
Cannot do at all 33 2 2 100.0
Total 16760  96.7 100.0
Missing 566 3.3
Total 17326 100.0
HEAR _4: Difficulty hearing one person in noisier room
Frequency Percent Valid Percent Cumulative Percent
Valid  No difficulty 11697 675 69.9 69.9
Some difficulty 4191 24.2 25.0 94.9
A lot of difficulty 779 4.5 4.7 99.6
Cannot do at all 71 A4 A4 100.0
Total 16738  96.6 100.0
Missing 588 3.4
Total 17326 100.0

Step 5. Generate a cross-tabulation of the two Hearing Extended Set questions: HEAR_3 and HEAR 4.

The syntax below produces a cross-tabulation of the two Extended Set questions: HEAR_3: Difficulty
hearing in a quiet room and HEAR_4: Difficulty hearing in a noisier room to determine a single

HEARING INDICATOR.

CROSSTABS HEAR_4 BY HEAR_S.

HEAR_3: Difficulty hearing conversation with one person in

guiet room
HEAR_4 (Difficulty hearing in a Some A lot of Cannot do
Nosier room) No difficulty  difficulty  difficulty at all Total
No difficulty | 11603 94 0 0 11697
Some difficulty ‘ 3373 809 8 0 4190
A lot of difficulty \ 253 388 138 0 779
Cannotdoatall | 8 24 16 23 71
Total 15237 1315 162 23 16737

Step 6. Create a HEARING INDICATOR (H_INDICATOR) based on the two additional hearing

questions HEAR_3 and HEAR 4.

The syntax below creates a HEARING INDICATOR (H_INDICATOR) based on the cross-tabulation of
the two additional hearing questions HEAR_3 and HEAR_4.

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
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COMPUTE H_INDICATOR =0.

IF (HEAR_3 =1 AND HEAR_4 = 1) OR (HEAR_3=1 AND HEAR 4 =2) H_INDICATOR =
1.

IF (HEAR_3 =2 AND (HEAR_4 = 1 OR HEAR_4 = 2)) OR (HEAR_3 = 1 AND HEAR _4 = 3)
H_INDICATOR = 2.

IF (HEAR_3 =3 AND (HEAR 4 =1 OR HEAR 4 =2) OR (HEAR_3 =2 AND HEAR 4 = 3)
OR (HEAR_3 =1 AND HEAR_4 = 4)) H_INDICATOR = 3.

IF (HEAR_3 =3 AND HEAR 4 = 3) OR HEAR_3 =4 OR (HEAR_4 = 4 AND (HEAR 3 =2
OR HEAR_3 = 3))) H_INDICATOR = 4.

FREQUENCIES H_INDICATOR.

H INDICATOR
Frequency Percent Valid Percent Cumulative Percent
Valid [1.00 14976  86.4 89.4 89.4
2.00 1156 6.7 6.9 96.3
3.00 404 2.3 2.4 98.7
4.00 211 1.2 1.3 100.0
Total 16747  96.7 100.0
Missing 579 3.3
Total 17326 100.0

COGNITION: Degree of difficulty remembering or concentrating

Step 7. Generate frequency distributions and cross-tabulations for Cognition domain questions and
determine a Cognition Indicator.

COG_SS is the WG-SS Cognition question.
Frequency distribution of the WG-SS cognition question: COG_SS.

FREQUENCIES COG_SS.

Degree of difficulty remembering or concentrating

Valid Cumulative
Frequency Percent Percent Percent

Valid No difficulty 13719 79.2 81.9 81.9
Some difficulty 2632 15.2 15.7 97.6
A lot of difficulty 382 2.2 2.3 99.9
Cannot do at all 20 | 1 100.0
Total 16753 96.7 100.0

Missing 573 3.3

Total 17326 100.0

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:

Crp. |9 http://www.washingtongroup-disability.com/.


http://www.washingtongroup-disability.com/

If response to COG-SS is some difficulty, a lot of difficulty or cannot do at all, then the respondent is
asked COG_1: whether they have difficulty remembering, concentrating or both.

FREQUENCIES COG_1.

COG_1: Difficulty remembering, concentrating, or both?

Valid Cumulative
Frequency Percent  Percent Percent
Valid  Difficulty remembering only 983 5.7 324 324
Difficulty concentrating only 388 2.2 12.8 45.2
Difficulty with both remembering and 1659 9.6 54.8 100.0
concentrating
Total 3030 17.5 100.0
Missing 14296 82.5
Total 17326  100.0

Step 8. Account for those who did not answer COG_1 (COG_SS is 1 — no difficulty and they were
skipped) by recoding COG_1 to 0 (No difficulty).

If response to COG-SS is 1: no difficulty, then the variable COG_1 is recoded into COG_1A, and the
value assigned is 0: no difficulty.

COMPUTE COG_1A = COG_1.
IF (COG_SS = 1) COG_1A = 0.
FREQUENCIES COG_1A.

COG_1A
Valid Cumulative
Frequency Percent  Percent Percent
Valid  No difficulty 13719 792 81.9 81.9
Difficulty remembering only 983 5.7 5.9 87.8
Difficulty concentrating only 388 2.2 2.3 90.1
Difficulty with both remembering and 1659 9.6 9.9 100.0
concentrating
Total 16749  96.7 100.0
Missing 577 3.3
Total 17326 100.0

Step 9. Generate frequency distribution for remaining cognition questions.

Frequency distribution of the Cognition extended REMEMBERING questions: COG_2 How often have
difficulty remembering, and COG_3 Amount of things you have difficulty remembering.
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FREQUENCIES COG_2 COG_3.

COG_2: How often have difficulty remembering?
Frequency Percent Valid Percent Cumulative Percent

Valid  Sometimes 1916 111 72.4 72.4
Often 513 3.0 194 91.8
All of the time 216 1.2 8.2 100.0
Total 2645 15.3 100.0

Missing 14681 84.7

Total 17326  100.0

COG_3: Amount of things you have difficulty remembering?
Cumulative
Frequency Percent Valid Percent Percent

Valid A few things 2119 12.2 80.3 80.3
A lot of things 386 2.2 14.6 94.9
Almost everything 134 8 5.1 100.0
Total 2639 15.2 100.0

Missing 14687 84.8

Total 17326  100.0

Step 10. Generate cross-tabulation of the two Cognition extended set questions COG_2 by COG_3.

The syntax below produces a cross-tabulation of the two Extended Set REMEMBERING questions:
COG_2: How often you have difficulty remembering and COG_3: The amount of things you have

difficulty remembering to determine a single REMEMBERING INDICATOR.

CROSSTABS COG_2 BY COG_3.

COG_3: Amount of things you have difficulty
remembering?

COG_2: How often do you have difficulty Almost
remembering? A few things A lot of things  everything Total
How often have difficulty |Sometimes 1788 105 20 1913
remembering? Often 279 197 34 510
All of the time 51 84 80 215
Total 2118 386 134 2638

Step 11. Create a Remembering Indicator based on distribution of COG_2 and COG_3.

The syntax below creates a REMEMBERING INDICATOR (R_INDICATOR) based on the two
additional remembering questions (COG_2 and COG_3).
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If COG_SS is 1: no difficulty, then the Remembering Indicator is coded as 1: the lowest level of
difficulty.

COMPUTE R_INDICATOR = 0.
IF (COG_SS = 1) R_INDICATOR = 1.

IF (COG_2=1AND COG_3=1) OR (COG_3 =1 AND COG_2 =2) OR (COG_3 =2 AND
COG_2=1)) R_INDICATOR = 2.

IF (COG_3=2AND COG_2=2)R_INDICATOR = 3.

IF (COG_3=30R COG_2=3)R_INDICATOR = 4.

FREQUENCIES R_INDICATOR.

Step 12. If COG_1A is coded as 2 (concentrating only), then the Remembering Indicator is coded as 5.

These 388 individuals are respondents who were not included in the Remembering Indicator since they
had only difficulty concentrating.

IF (COG_1A =2) R_INDICATOR = 5.
Step 13. Generate frequency distribution of the Remembering Indicator.

FREQUENCIES R_INDICATOR.

R_INDICATOR
Frequency Percent Valid Percent  Cumulative Percent

Valid .00 580 3.3 3.3 3.3

1.00 13719 79.2 79.2 82.5

2.00 2172 125 12.5 95.1

3.00 197 1.1 1.1 96.2

4.00 270 1.6 1.6 97.8

5.00 388 2.2 2.2 100.0

Total 17326 100.0 100.0

Step 14. Supplement Remembering Indicator with information on difficulty concentrating.

The syntax below adds information on whether cognitive difficulties are compounded by difficulty
concentrating in addition to difficulty remembering.

Create a COGNITION INDICATOR (COG_INDICATOR) based on R_INDICATOR (above) and the
cognition question (COG_1).

The 388 individuals with ‘concentrating only’ were allocated as follows:

1. 357 with a little difficulty on COG_SS question were classified as 2

2. 30 with a lot of difficulty on COG_SS question were classified as 3

3. 1 with cannot do on COG_SS question was classified as 4
Those with both remembering and concentrating difficulty were upgraded 36 individuals from 2 to 3,
and 125 individuals from 3 to 4.
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COMPUTE COG_INDICATOR = 0.

COMPUTE COG_INDICATOR = R_INDICATOR.

IF (R_LINDICATOR =5 AND COG_SS = 2) COG_INDICATOR = 2.
IF (R_INDICATOR =5 AND COG_SS = 3) COG_INDICATOR = 3.
IF (R_LINDICATOR =5 AND COG_SS =4) COG_INDICATOR = 4.

IF (R_INDICATOR =2 AND COG_1 =3 AND COG_SS = 3) COG_INDICATOR = 3.
IF (R_INDICATOR =3 AND COG_1 =3 AND COG_SS = 3) COG_INDICATOR =4.

Step 15. Generate frequency distribution of the Cognition Indicator.

FREQUENCIES COG_INDICATOR.

COG_INDICATOR

Frequency Percent Valid Percent =~ Cumulative Percent
Valid .00 580 3.3 3.3 3.3
1.00 13719 79.2 79.2 825
2.00 2449 14.1 14.1 96.7
3.00 226 1.3 1.3 98.0
4.00 352 2.0 2.0 100.0
Total 17326 100.0 100.0

UPPER BODY

Step 16. Generate frequency distributions and cross-tabulations for Self-care and Upper body domain
questions and determine the Upper Body Indicator.

SC_SS is the WG-SS Self-care question.
UB_1 is Difficulty raising 2 liter bottle of water from waist to eye level.
UB_2 is Difficulty using hands and fingers

First, calculate frequency distributions on the short set and two extended set questions.

FREQUENCIES SC_SSUB_1UB_2.

SC_SS: Degree of difficulty with self-care

Frequency Percent ~ Valid Percent Cumulative Percent
Valid No difficulty 16029 925 95.7 95.7
Some difficulty 544 3.1 3.2 98.9
A lot of difficulty 114 v v 99.6
Cannot do at all 68 A4 4 100.0
Total 16755 96.7 100.0
Missing 571 3.3
Total 17326 100.0
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UB_1: Diff raising 2 liter bottle of water from waist to eye level

Frequency Percent ~ Valid Percent Cumulative Percent
Valid No difficulty 15677 90.5 93.6 93.6
Some difficulty 743 4.3 4.4 98.0
A lot of difficulty 167 1.0 1.0 99.0
Cannot do at all 166 1.0 1.0 100.0
Total 16753 96.7 100.0
Missing 573 3.3
Total 17326 100.0
UB_2: Degree of difficulty using hands and fingers
Frequency Percent  Valid Percent Cumulative Percent
Valid No difficulty 15199 87.7 90.7 90.7
Some difficulty 1229 7.1 7.3 98.1
A lot of difficulty 255 15 1.5 99.6
Cannot do at all 70 A4 4 100.0
Total 16753 96.7 100.0
Missing 573 3.3
Total 17326 100.0

Step 17. Generate a cross-tabulation of the two Upper body Extended Set questions: UB_2 and UB_1.

The syntax below produces a cross-tabulation of the two Extended Set questions: UB_1: Difficulty
raising a 2 liter bottle of water from waste to eye level UB_2: Difficulty using hands and fingers to

determine a single UPPER BODY INDICATOR (UB_INDICATOR).

CROSSTABS UB_2 BY UB_1.

UB_1: Diff raising 2 liter bottle of water from waist to

eye level

UB_2: Difficulty using hands and Some Alotof  Cannotdo
fingers No difficulty difficulty  difficulty at all Total
Degree of difficulty ~No difficulty | 14786 309 58 44 15197
using hands and Some difficulty | 782 355 51 40 1228
fingers A lot of difficulty | 98 73 51 33 255

Cannotdoatall | 9 5 7 49 70
Total 15675 742 167 166 16750

Step 18. Create an UPPER BODY INDICATOR (UB_INDICATOR) based on the two additional upper
body questions UB_2 and UB_3.

Syntax below creates UB_INDICATOR based on the distribution in the cross-tabulation above.
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COMPUTE UB_INDICATOR = 0.
IF (UB_1=4OR UB_2=4)UB_INDICATOR = 4.

IF UB_INDICATOR NE 4 AND (UB_1 =3 OR UB_2 = 3) UB_INDICATOR = 3.

IF UB_INDICATOR NE 4 AND UB_INDICATOR NE 3 AND (UB_1=2OR UB_2 =2)
UB_INDICATOR = 2.

IF UB_INDICATOR NE 4 AND UB_INDICATOR NE 3 AND UB_INDICATOR NE 2 AND
(UB_1=10R UB_2=1) UB_INDICATOR = 1.

FREQUENCIES UB_INDICATOR.

UB_INDICATOR
Frequency Percent Valid Percent Cumulative Percent

Valid [1.00 14790 854 88.3 88.3
2.00 1448 8.4 8.6 96.9
3.00 331 1.9 2.0 98.9
4.00 187 1.1 1.1 100.0
Total 16756  96.7 100.0

Missing 570 3.3

Total 17326  100.0

MOBILITY

Step 19. Generate frequency distributions and cross-tabulations for Mobility domain questions and
determine Mobility Indicator.

MOB_SS is the WG-SS Mobility question.
MOB_4 is Difficulty walking 100 yards on level ground without aid or equipment.
MOB _5 is Difficulty walking 1/3rd mile on level ground without aid or equipment.

First, calculate frequency distributions on the short set and two extended set WALKING questions.

FREQUENCIES MOB_SS MOB_4 MOB_5.

MOB_SS
Valid Cumulative
Frequency Percent Percent Percent
Valid No difficulty 13424 77.5 80.1 80.1
Some difficulty 2165 125 12.9 93.0
A lot of difficulty 792 4.6 4.7 97.7
Cannot do at all 380 2.2 2.3 100.0
Total 16761 96.7 100.0
Missing 565 3.3
Total 17326 100.0
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MOB_4: Diff walking 100 yards on level ground w/o aid or equipment

Cumulative
Frequency Percent ~ Valid Percent Percent
Valid No difficulty 13892 80.2 84.8 84.8
Some difficulty 1369 7.9 8.4 93.2
A lot of difficulty 491 2.8 3.0 96.2
Cannot do at all 623 3.6 3.8 100.0
Total 16375 945 100.0
Missing 951 55
Total 17326 100.0
MOB_5: Diff walking 1/3rd mile on level ground w/o aid or equipment
Cumulative
Frequency Percent ~ Valid Percent Percent
Valid No difficulty 13025 75.2 82.8 82.8
Some difficulty 1650 9.5 10.5 93.3
A lot of difficulty 708 4.1 4.5 97.8
Cannot do at all 347 2.0 2.2 100.0
Total 15730 90.8 100.0
Missing 1596 9.2
Total 17326 100.0

Step 20. Generate a cross-tabulation of the walking distance questions: MOB_4 and MOB_5.

The syntax below produces a cross-tabulation of the two Extended Set WALKING questions: MOB_4:
Difficulty walking 100 yards without equipment and MOB_5: Difficulty walking 1/3 mile without

equipment to determine a single WALKING INDICATOR.

NOTE: 623 individuals who responded cannot do at all to MOB_4 were not asked MOB_5 and they do
not appear in the table below. They are, however, accounted for in the WALKING indicator calculation.

CROSSTABS MOB_4 BY MOB_5.

MOB_4: Diff walking 100 yards =~ MOB_5: Diff walking 1/3rd mile on level ground w/o aid or

on level ground w/o aid or equipment
equipment Some Alotof  Cannotdo
No difficulty  difficulty difficulty atall Total
No difficulty ‘ 12950 819 63 39 13871
Some difficulty | 72 810 343 142 1367
A lot of difficulty | 3 21 301 166 491
Cannot do at all (623) ] 0 0 0 0
Total 13025 1650 707 347 15729
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Step 21. Create a WALKING INDICATOR (WALK_INDICATOR) based on the two additional walking
questions MOB_4 and MOB_5.

Syntax below creates WALKING_INDICATOR based on the distribution in the cross-tabulation above.

COMPUTE WALK_INDICATOR = 0.

IF (MOB_4 =1 AND (MOB_5 = 1 OR MOB_5 = 2)) WALK_INDICATOR = 1.

IF (MOB_4 =1 AND MOB_5 = 3) OR (MOB_4 =2 AND (MOB_5 =1 OR MOB_5 =2 OR
MOB_5 = 3)) WALK_INDICATOR = 2.

IF (MOB_4 =1 AND MOB_5 = 4) OR (MOB_4 = 3 AND (MOB_5 =1 OR MOB_5 = 2 OR
MOB_5 = 3) WALK_INDICATOR = 3.

IF (MOB_4 = 2 AND MOB_5 = 4) OR (MOB_4 = 3 AND MOB_5 = 4))
WALK_INDICATOR = 4.

Syntax below includes the 623 who responded cannot do at all to MOB_4 into the WALKING
INDICATOR.

IF (WALK_INDICATOR =0 AND MOB_4 =4) WALK_INDICATOR =4,
RECODE WALK_INDICATOR (0 = SYSMIS).

FREQUENCIES WALK_INDICATOR.

WALK_INDICATOR

Valid Cumulative
Frequency Percent Percent Percent

Valid 1.00 13769 79.5 84.2 84.2
2.00 1288 7.4 7.9 92.1
3.00 364 2.1 2.2 94.3
4.00 931 54 5.7 100.0
Total 16352 94.4 100.0

Missing 974 5.6

Total 17326 100.0

Step 22. Supplement Walking Indicator with information on difficulty Climbing steps (MOB_6).

Syntax below adds information from MOB_6 on difficulty climbing up or down 12 steps to create a
combined Mobility Indicator (MOB_INDICATOR).

CROSSTABS WALK_INDICATOR BY MOB_6.
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MOB_6: Difficulty climbing up or down 12 steps

Some A lot of Cannot do at
WALK INDICATOR No difficulty  difficulty difficulty all Total
walk_INDICATOR2 1.00 13048 645 55 17 13765
2.00 370 767 135 16 1288
3.00 43 106 200 14 363
4.00 79 242 226 384 931
Total 13540 1760 616 431 16347

According to the table above, the syntax below reclassifies:
1. 55 individuals with level 1 on the WALKING INDICATOR as level 2 on the MOBILITY
INDICATOR
2. 17 individuals with level 1 on the WALKING INDICATOR and 135 individuals with level 2 on
the WALKING INDICATOR as level 3 on the MOBILITY INDICATOR, and
3. 16 individuals with level 2 on the WALKING INDICATOR as level 4 on the MOBILITY
INDICATOR.

Step 23. Create a mobility indication (MOB_INDICATOR) with information garnered from cross-
tabulation above.

COMPUTE MOB_INDICATOR = WALK_INDICATOR.

IF (WALK_INDICATOR =2 AND MOB_6 = 3) MOB_INDICATOR = 3.
IF (WALK_INDICATOR =1 AND MOB_6 = 3) MOB_INDICATOR = 2.
IF (WALK_INDICATOR =2 AND MOB_6 = 4) MOB_INDICATOR = 4.
IF (WALK_INDICATOR =1 AND MOB_6 =4) MOB_INDICATOR = 3.
FREQUENCIES MOB_INDICATOR.

MOB_INDICATOR

Valid Cumulative
Frequency Percent Percent Percent

Valid |1.00 13697 79.1 83.8 83.8
2.00 1192 6.9 7.3 91.1
3.00 516 3.0 3.2 94.2
4.00 947 55 5.8 100.0
Total 16352 944 100.0

Missing 974 5.6

Total 17326 100.0
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ANXIETY

Step 24.Generate frequency distribution on ANX_1.
First, calculate frequency distributions on ANX_1: How often do you feel worried, nervous or anxious?

FREQUENCIES ANX_1.

ANX_1: How often feel worried, nervous, or anxious?
Frequency Percent Valid Percent Cumulative Percent

Valid Daily 1632 9.4 9.8 9.8
Weekly 1872 10.8 11.2 21.0
Monthly 1558 9.0 9.3 30.4
A few times a year 4898 28.3 29.4 59.7
Never 6714 38.8 40.3 100.0
Total 16674  96.2 100.0

Missing 652 3.8

Total 17326  100.0

Step 25. The syntax below recodes ANX_3 into ANX_3Y
1) to create a NOT ASKED category based on those who responded NEVER to ANX_1 and
2) to place “SOMEWHERE BETWEEN” numerically in-between “A LITTLE” and “A LOT”.

IF (ANX_1 = 5) ANX_3Y =0.

RECODE ANX_3 (SYSMIS=SYSMIS) (1=1) (2=3) (3=2) (ELSE=9) INTO ANX_3Y.
FREQUENCIES ANX_3Y.

ANX _3Y: Level of feelings last time felt worried/nervous/anxious

Valid Cumulative
Frequency Percent  Percent Percent

Valid Not asked 6714 38.8 40.3 40.3
A little 5700 32.9 34.2 745
In between a little and a lot 3076 17.8 18.5 92.9
A lot 1176 6.8 7.1 100.0
Total 16666 96.2 100.0

Missing 660 3.8

Total 17326  100.0
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Step 26. Generate a cross-tabulation of the anxiety Extended Set questions: ANX_1 and ANX_3Y.

The syntax below produces a cross-tabulation of ANX_1: How often you felt worried, nervous or
anxious (a measure of frequency) and ANX_3Y: The level of those feeling the last time you felt worried,
nervous or anxious (a measure of intensity) — used to determine a single ANXIETY INDICATOR
(ANX_INDICATOR).

CROSSTABS ANX_3Y BY ANX_1.

ANX_3Y': Level of feelings last ANX_1: How often feel worried, nervous or anxious?
time felt worried, nervous or A Few Times

anxious Daily  Weekly Monthly A Year Never  Total
Not asked \ 0 0 0 0 6714 6714
A little \ 489 887 897 3417 0 5690
In between a little and a lot | 589 725 535 1221 0 3070
A lot | 548 256 123 248 0 1175
Total 1626 1868 1555 4886 6714 16649

Step 27. Create an ANXIETY INDICATOR (ANX_INDICATOR) based on the two anxiety questions
ANX_1 and ANX_3Y.

Syntax below creates ANX_INDICATOR based on the distribution in the cross-tabulation above.

COMPUTE ANX_INDICATOR = 0.
IF (ANX_3Y LE 4 AND (ANX_1 =4 OR ANX_1 =5)) ANX_INDICATOR=L1.

IF ((ANX_1=3) OR (ANX_1 LT 3 AND ANX_3Y=1) OR (ANX_1 =2 AND ANX_3Y =2))
ANX_INDICATOR = 2.

IF (ANX_1 =1 AND ANX_3Y =2) OR (ANX_1 =2 AND ANX_3Y = 3))
ANX_INDICATOR = 3.

IF (ANX_1 =1 AND ANX_3Y = 3) ANX_INDICATOR = 4.

IF (ANX_1 =9 OR ANX_3Y = 9) ANX_INDICATOR=9.

VALUE LABELS ANX_INDICATOR 0 'N/A' 9 "DON'T KNOW".

FREQUENCIES ANX_INDICATOR.

ANX_INDICATOR

Valid Cumulative
Frequency Percent Percent Percent

Valid 1.00 11600 67.0 69.7 69.7
2.00 3656 21.1 22.0 91.6
3.00 845 4.9 5.1 96.7
4.00 548 3.2 3.3 100.0
Total 16649 96.1 100.0

Missing 677 3.9

Total 17326 100.0
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DEPRESSION
Step 28.Generate frequency distribution on DEP_1.
First, calculate frequency distributions on DEP_1: How often do you feel depressed?

FREQUENCIES DEP_1.

DEP_1: How often do you feel depressed?
Frequency Percent Valid Percent Cumulative Percent

Valid Daily 756 4.4 4.5 4.5
Weekly 926 5.3 5.6 10.1
Monthly 1038 6.0 6.2 16.3
A few times a year 4012 23.2 24.1 40.4
Never 9929 57.3 59.6 100.0
Total 16661 96.2 100.0

Missing 665 3.8

Total 17326  100.0

Step 29. The syntax below recodes DEP_3 into DEP_3Y
1) to create a NOT ASKED category based on those who responded NEVER to DEP_1 and
2) to place “SOMEWHERE BETWEEN " numerically in-between “A LITTLE” and “A LOT”".

IF (DEP_1 = 5) DEP_3Y =0.
RECODE DEP_3 (SYSMIS=SYSMIS) (1=1) (2=3) (3=2) (ELSE=9) INTO DEP_3Y.
FREQUENCIES DEP_3Y.

DEP_3Y: Level of feelings last time felt depressed
Frequency Percent Valid Percent Cumulative Percent

Valid  Not asked 9929 57.3 59.6 59.6
A little 3775 21.8 22.7 82.3
In between a little and a lot 2016 11.6 12.1 94.4
A lot 935 54 5.6 100.0
Total 16655 96.1 100.0

Missing 671 3.9

Total 17326  100.0

Step 30. Generate a cross-tabulation of the depression Extended Set questions: DEP_1 and DEP_3Y.

The syntax below produces a cross-tabulation of DEP_1: How often do you feel depressed (a measure of
frequency) and DEP_3Y:: The level of those feeling the last time you felt depressed (a measure of
intensity) — used to determine a single DEPRESSION INDICATOR (DEP_INDICATOR).

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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CROSSTABS DEP_3Y BY DEP_1.

DEP_1: How often do you feel depressed?

DEP_3Y: Level of feelings last time A Few Times

felt depressed Daily  Weekly Monthly A Year Never Total
Not asked | 0 0 0 0 9929 9929
A little | 161 346 548 2708 0 3763
In between a little and a lot | 209 384 378 1042 0 2013
A lot | 381 191 112 248 0 932
Total 751 921 1038 3998 9929 16637

Step 31. Create a DEPRESSION INDICATOR (DEP_INDICATOR) based on the two depression
questions DEP_1 and DEP_3Y.

Syntax below creates DEP_INDICATOR based on the distribution in the cross-tabulation above.

COMPUTE DEP_INDICATOR = 0.

IF (DEP_3Y LE 4 AND (DEP_1 =4 OR DEP_1 =5)) DEP_INDICATOR=1.

IF ((DEP_1=3) OR (DEP_1 LT 3 AND DEP_3Y=1) OR (DEP_1 = 2 AND DEP_3Y =2))
DEP_INDICATOR = 2.

IF (DEP_1 =1 AND DEP_3Y =2) OR (DEP_1 =2 AND DEP_3Y = 3)) DEP_INDICATOR =
3.

IF (DEP_1 =1 AND DEP_3Y = 3) DEP_INDICATOR = 4.

IF (DEP_1 =9 OR DEP_3Y =9) DEP_INDICATOR = 9.

VALUE LABELS DEP_INDICATOR 0 'N/A' 9 "DON'T KNOW".

FREQUENCIES DEP_INDICATOR.

DEP_INDICATOR

Valid Cumulative
Frequency Percent Percent Percent

Valid 1.00 13927 80.4 83.7 83.7
2.00 1929 111 11.6 95.3
3.00 400 2.3 2.4 97.7
4.00 381 2.2 2.3 100.0
Total 16637 96.0 100.0

Missing 689 4.0

Total 17326 100.0

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:

Crp. | 22 http://www.washingtongroup-disability.com/.


http://www.washingtongroup-disability.com/

PAIN
Step 32.Generate frequency distribution on PAIN_2.
First, calculate frequency distributions on PAIN_2: Frequency of pain in the past 3 months.

FREQUENCIES PAIN_2.

PAIN_2: Frequency of pain in past 3 months

Valid Cumulative
Frequency Percent Percent Percent

Valid Never 6636 38.3 39.8 39.8
Some days 6556 37.8 39.3 79.2
Most days 1227 7.1 7.4 86.5
Every day 2245 13.0 13.5 100.0
Total 16664 96.2 100.0

Missing 662 3.8

Total 17326 100.0

Step 33. The syntax below recodes PAIN 4 into PAIN 4Y to place “SOMEWHERE BETWEEN”
numerically in-between “A LITTLE” and “A LOT”. It also creates the category NOT ASKED, if
PAIN_2 is NEVER (1).

COMPUTE PAIN_4Y = PAIN_4.
IF (PAIN_2 = 1) PAIN_4Y=0.
RECODE PAIN_4Y (1=1) (2=3) (3=2).
FREQUENCIES PAIN_4Y.

PAIN_4Y: How much pain you had last time you had pain?
Frequency Percent Valid Percent Cumulative Percent

Valid  Not asked 6636 38.3 39.8 39.8
A little 4865 28.1 29.2 69.0
In between a little and a lot 3296  19.0 19.8 88.8
A lot 1869 10.8 11.2 100.0
Total 16666 96.2 100.0

Missing 660 3.8

Total 17326  100.0

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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Step 34. Generate a cross-tabulation of the PAIN Extended Set questions: PAIN_2 and PAIN_4Y.

The syntax below produces a cross-tabulation of PAIN_2: Frequency of pain in the past 3 months and
PAIN_4Y: How much pain you has the last time you had pain (a measure of intensity) — used to
determine a single PAIN INDICATOR (P_INDICATOR).

CROSSTABS PAIN_4Y BY PAIN_2.

PAIN_2: Frequency of pain in past 3 months

PAIN_4Y: How much pain you Some Most Every

had last time you had pain Never days days day Total
Not asked 6636 0 0 0 6636
A little 0 4136 323 401 4860
In between a little and a lot 0 1772 624 896 3296
A lot 0 645 278 944 1867

Total 6636 6553 1225 2241 16655

Step 35. Create a PAIN INDICATOR (P_INDICATOR) based on the two PAIN questions PAIN_2 and

PAIN_4Y.

Syntax below creates P_INDICATOR based on the distribution in the cross-tabulation above.

COMPUTE P_INDICATOR = 0.
IF (PAIN_2 = 1) OR (PAIN_4Y = 1 AND (PAIN_2 =2 OR PAIN_2 = 3)) P_INDICATOR = 1.
IF ((PAIN_2 = 2 AND (PAIN_4Y =2 OR PAIN_4Y = 3)) OR (PAIN_2 = 3 AND PAIN_4Y =
2) OR (PAIN_2 = 4 AND PAIN_4Y = 1)) P_INDICATOR =2,

IF (PAIN_2 = 3 AND PAIN_4Y = 3) OR (PAIN_2 = 4 AND PAIN_4Y =2) P_INDICATOR =

3

IF (PAIN_2 = 4 AND PAIN_4Y =3) P_INDICATOR = 4.

RECODE P_INDICATOR (0=SYSMIS).
FREQUENCIES P_INDICATOR.

P_INDICATOR
Frequency Percent Valid Percent Cumulative Percent
Valid 1.00 11095  64.0 66.6 66.6
2.00 3442 19.9 20.7 87.3
3.00 1174 6.8 7.0 94.3
4.00 944 5.4 5.7 100.0
Total 16655 96.1 100.0
Missing 671 3.9
Total 17326  100.0
st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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FATIGUE (Tired)

Step 36.Generate frequency distribution on FATIGUE Extended Set questions Tired_1, Tired_2 and
Tired_3.

First, calculate frequency distributions on TIRED_1: How often you felt tired in the past 3 months.

FREQUENCIES TIRED_1.

How often felt very tired or exhausted in past 3 months

Valid Cumulative
Frequency Percent Percent Percent

Valid Never 5619 32.4 33.7 33.7
Some days 8391 48.4 50.4 84.1
Most days 1632 94 9.8 93.9
Every day 1019 5.9 6.1 100.0
Total 16661 96.2 100.0

Missing 665 3.8

Total 17326 100.0

Step 37. Recode Tired_2 to 0 (not asked) if Tired_1 is 1 (Never).

If response to TIRED _1 is 1: Never, then TIRED_2 (How long most recent tired or exhausted feelings
lasted) is not asked. This variable is recoded so these individuals are included in the syntax below.

IF (TIRED_1 = 1) TIRED_2=0.

VALUE LABELS TIRED_2 0'NOT ASKED",
FREQUENCIES TIRED_2.

TIRED_2: How long most recent tired or exhausted feelings lasted?

Valid Cumulative
Frequency  Percent Percent Percent

Valid  Not asked 5619 324 33.8 33.8
Some of the day 8036 46.4 48.3 82.0
Most of the day 1955 11.3 11.7 93.8
All of the day 1036 6.0 6.2 100.0
Total 16646 96.1 100.0

Missing 680 3.9

Total 17326 100.0
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Step 38. The syntax below recodes TIRED 3 into TIRED 3Y to place “SOMEWHERE BETWEEN"
numerically in-between “A LITTLE” and “A LOT".

Also, if response to TIRED 1 is 1: Never, then TIRED_3 (Level of tiredness) is not asked. This variable
is recoded so these individuals are included in the syntax below.

COMPUTE TIRED_3Y = TIRED_3.

IF (TIRED_1 = 1) TIRED_3Y=0.

RECODE TIRED_3Y (1=1) (2=3) (3=2).

VALUE LABELS TIRED_3Y 0'NOT ASKED' 1'A LITTLE' 2 'IN BETWEEN' 3 'A LOT",
VARIABLE LABELS TIRED_3Y 'LEVEL OF TIREDNESS'

FREQUENCIES TIRED_3Y.

TIRED_3Y': Level of tiredness

Valid Cumulative
Frequency Percent Percent Percent
Valid  Not asked 5619 32.4 33.8 33.8
A little 4912 28.4 29.5 63.3
In between a little and a lot 4030 23.3 24.2 87.5
A lot 2087 12.0 12.5 100.0
Total 16648 96.1 100.0
Missing 678 3.9
Total 17326 100.0

Step 39. Generate a cross-tabulation of the FATIGUE Extended Set questions: TIRED_1, TIRED_2 and
TIRED_3Y.

The syntax below produces a cross-tabulation of TIRED_1: How often you felt tired or exhausted in the
past 3 months (a measure of frequency) and TIRED_2: How long those feelings lasted (a measure of
duration) and TIRED_3Y: The level of tiredness (a measure of intensity) — used to determine a single
TIRED INDICATOR (T_INDICATOR).

CROSSTABS TIRED_2 BY TIRED_1 BY TIRED_3Y.
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TIRED_3Y: Level

TIRED_2: How long

TIRED_1: How often felt very tired or
exhausted in past 3 months: Frequency

of tiredness: feelings lasted: Some Most
Intensity Duration Never days days Every day | Total
Not asked Not asked 5619 5619
A little Some of the day 4066 264 124 4454
Most of the day 252 73 27 352
All of the day 68 15 18 101
In between Some of the day 2224 400 166 2791
Most of the day 497 266 123 887
All of the day 194 71 84 349
A lot Some of the day 536 165 84 785
Most of the day 297 255 160 713
All of the day 237 118 230 585
TOTAL 5619 8371 1627 1016 16633

Step 40. Create a FATIGUE INDICATOR (T_INDICATOR) based on the three FATIGUE questions
TIRED_1, TIRED_2 and TIRED_3Y.

Syntax below creates T_INDICATOR based on the distribution in the cross-tabulation above.

COMPUTE T_INDICATOR =0.

IF (TIRED_1=1) T_INDICATOR=L1.
IF (TIRED_1=2AND TIRED_2 =1 AND TIRED_3Y =1) T_INDICATOR = 1.
IF (TIRED_1=3 AND TIRED_2 =1 AND TIRED_3Y =1) T_INDICATOR = 1.

IF (T_INDICATOR NE 1 AND TIRED_3Y LT 3) T_INDICATOR =2,
IF (T_INDICATOR NE 1 AND (TIRED_3Y =3 AND TIRED 2 =1)) T_INDICATOR = 2.
IF (T_INDICATOR NE 1 AND (TIRED_3Y =3 AND TIRED 2 =2 AND TIRED_1 = 2))

T_INDICATOR = 2.

IF ((T_INDICATOR NE 1 AND T_INDICATOR3 NE 2) AND TIRED_1 =2) T_INDICATOR

=3.

IF (TIRED_1 GE 3 AND TIRED_2 =2 AND TIRED_3Y = 3) OR (TIRED_1 GE 3 AND
TIRED_2 =3 AND TIRED_3Y =3) OR (TIRED_1 GE 3 AND TIRED_2 =1 AND TIRED_3Y

=5)OR (TIRED_1 =3 AND TIRED_2 =2 AND TIRED_3Y =5) T_INDICATOR = 3.

IF (TIRED_1 GE 3 AND TIRED_2 =2 AND TIRED_3Y =3) T_INDICATOR = 3.

IF (T_INDICATOR NE 1 AND T_INDICATOR3 NE 2 AND T_INDICATOR3 NE 3 AND
(TIRED_1 =3 OR TIRED_1 = 4)) T_INDICATOR = 4.

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
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IF (TIRED_1 GE 7 OR TIRED_2 GE 7 OR TIRED_3Y =9) T_INDICATOR = 9.

VALUE LABELS T_INDICATOR 0 'N/A'9 "DON'T KNOW".
FREQUENCIES T_INDICATOR.

T_Indicator
Valid Cumulative
Frequency Percent Percent Percent
Valid  1.00 9949 57.4 59.8 59.8
2.00 3864 22.3 23.2 83.0
3.00 2312 13.3 13.9 96.9
4.00 508 2.9 3.1 100.0
Total 16633 96.0 100.0
Missing 693 4.0
Total 17326 100.0
Creating Disability Status Indicators
Type of Disability Indicator Number of Questions
SS 1 Short Set (SS) 6

Extended Set

SS + Hearing-indicator, Mobility-indicator, Cognition-indicator,

S Upper Body-indicator + PFAD (4)* 25

Es o SS+ Hearing-indicator, Mobility-indicator, Cognition-indicator, 20
—~  Upper Body-indicator + AD (4)"

Short Set Enhanced

ES 3 SS + Upper Body-indicator + AD (4)* 12

* PFAD (4): Pain, Fatigue, Anxiety and Depression Indicators at level 4
T AD (4): Anxiety and Depression Indicators at level 4

SS_1: WG Short Set Disability Indicator based on the 6 short set questions.
The syntax below calculates the WG Short Set Disability Indicator based on the six short set questions

SS 1 at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT
OF DIFFICULTY or CANNOT DO AT ALL.

st mosryueHns AOTIOMHUTENLHON nHpOpMauK 0 BamMHI TOHCKOM rpyrine
Crp. | 28 10 CTATUCTUKE HHBAIIMIHOCTH NIEPEHANTE HA CAMT:
P http://www.washingtongroup-disability.com/.


http://www.washingtongroup-disability.com/

FREQUENCIES VIS_SS HEAR_SS MOB_SS COM_SS SC_SS COG_SS.

COMPUTE SS_1=0.
IF (MISSING(VIS_SS) AND MISSING(HEAR_SS) AND MISSING(MOB_SS) AND
MISSING(COM_SS) AND MISSING(SC_SS) AND MISSING(COG_SS)) SS_1=9.

IF (VIS_SS =1 OR VIS_SS = 2) OR (HEAR_SS=1 OR HEAR_SS = 2) OR (MOB_SS=1 OR
MOB_SS = 2) OR (COM_SS = 1 OR COM_SS = 2) OR (SC_SS = 1 OR SC_SS = 2) OR
(COG_SS=10RCOG_SS=2))SS 1=0.

IF ((VIS_SS =3 OR VIS_SS = 4) OR (HEAR_SS=3 OR HEAR_SS = 4) OR (MOB_SS= 3 OR
MOB_SS = 4) OR (COM_SS= 3 OR COM_SS = 4) OR (SC_SS =3 OR SC_SS = 4) OR
(COG_SS=30RCOG_SS=4))SS 1=1.

FREQUENCIES SS_1.
SS_1: WG Short Set Disability Identifier

Valid Weighted
Frequency Percent Percent Estimate*

Valid WITHOUT DISABILITY 14905 86.0 88.8 90.5
WITH DISABILITY 1872 10.8 11.2 9.5
Total 16777 96.8 100.0

Missing 549 3.2

Total 17326 100.0

*Weighted estimate provided — but is not part of the SPSS syntax.

ES_1:8S_1 + Hearing-indicator, Mobility-indicator, Cognition-indicator + Upper Body-indicator
+ PFAD (4).

The syntax below calculates an Extended Set Disability Indicator (ES_1) based on 25 questions at the
recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF
DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4 for the
Hearing-, Mobility-, Cognition- and Upper body-Indicators; and severity level 4 for Pain-, Fatigue-,
Anxiety- and Depression-Indicators.

COMPUTE ES_1=0.
IF (MISSING(SS_1) AND MISSING(H_INDICATOR) AND
MISSING(MOB_INDICATORX) AND MISSING(COM_SS) AND

MISSING(SC_SS) AND MISSING(RC_INDICATOR2) AND MISSING(UB_INDICATOR)
AND MISSING(P_INDICATOR2) AND MISSING(T_INDICATOR3) AND
MISSING(ANX_INDICATOR) AND MISSING(DEP_INDICATOR)) ES_1 = 9.

IF(SS_1=10R (H_INDICATOR =3 OR H_INDICATOR = 4) OR (MOB_INDICATORX =
3 OR MOB_INDICATORX = 4) OR (RC_INDICATOR2 = 3 OR RC_INDICATOR2 = 4) OR
(UB_INDICATOR =3 OR UB_INDICATOR =4) OR P_INDICATOR2 =4 OR
T_INDICATOR3 =4 OR ANX_INDICATOR =4 OR DEP_INDICATOR=4)ES 1=1.
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FREQUENCIES ES_1.

ES 1: WG-ES Disability Indicator based on 11 domains and 25 questions
Valid Weighted

Frequency Percent Percent Estimate
Valid WITHOUT DISABILITY 13823 79.8 79.8 82.3
WITH DISABILITY 3503 20.2 20.2 17.7
Total 17326 100.0 100.0

*Weighted estimate provided — but is not part of the SPSS syntax.

ES 2:SS 1+ Hearing-indicator, Mobility-indicator, Cognition-indicator + Upper Body-indicator
+ AD (4)

The syntax below calculates an Extended Set Disability Indicator (ES_2) based on 20 questions at the
recommended cut-off. The level of inclusion is: at least 1 domain/question is coded A LOT OF
DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4 for the
Hearing-, Mobility-, Cognition- and Upper body-Indicators; and severity level 4 for Anxiety- and
Depression-Indicators.

COMPUTE ES_2 =0,

IF (MISSING(SS_1) AND MISSING(H_INDICATOR) AND
MISSING(MOB_INDICATORX) AND MISSING(COM_SS) AND

MISSING(SC_SS) AND MISSING(RC_INDICATOR2) AND MISSING(UB_INDICATOR)
AND MISSING(ANX_INDICATOR) AND MISSING(DEP_INDICATOR)) ES 2 = 9.

IF (SS_1=1OR (H_INDICATOR = 3 OR H_INDICATOR = 4) OR (MOB_INDICATORX =
3 OR MOB_INDICATORX = 4) OR (RC_INDICATOR2 =3 OR RC_INDICATOR?2 = 4) OR
(UB_INDICATOR =3 OR UB_INDICATOR = 4) OR ANX_INDICATOR =4 OR
DEP_INDICATOR =4)ES 2=1.

FREQUENCIES ES_2.

ES 2: WG-ES Disability Indicator based on 9 domains and 20 questions
Valid Weighted
Frequency Percent Percent Estimate*

Valid WITHOUT DISABILITY 14222 82.1 82.1 84.6
WITH DISABILITY 3104 17.9 17.9 15.4
Total 17326 100.0 100.0

*Weighted estimate provided — but is not part of the SPSS syntax.

ES_3:SS_1 + Upper Body-indijcator + AD (4)

The syntax below calculates the WG Short Set ENHANCED Disability Indicator (ES_3) based on the
12 questions at the recommended cut-off. The level of inclusion is: at least 1 domain/question is coded
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A LOT OF DIFFICULTY or CANNOT DO AT ALL for the six short set question; severity levels 3 or 4
for the Upper body-Indicators; and severity level 4 for Anxiety- and Depression-Indicators.

COMPUTE ES_3 =0,
IF (MISSING(VIS_SS) AND MISSING(HEAR_SS) AND MISSING(MOB_SS) AND
MISSING(COM_SS) AND MISSING(SC_SS) AND MISSING(COG_SS) AND
MISSING(UB_INDICATOR) AND MISSING(ANX_INDICATOR) AND
MISSING(DEP_INDICATOR)) ES_3 = 0.

IF ((VIS_SS = 3 OR VIS_SS = 4) OR (HEAR_SS=3 OR HEAR_SS = 4) OR (MOB_SS= 3 OR
MOB_SS = 4) OR (COM_SS= 3 OR COM_SS = 4) OR (SC_SS =3 OR SC_SS = 4) OR
(COG_SS =3 OR COG_SS = 4) OR (UB_INDICATOR =3 OR UB_INDICATOR = 4) OR
ANX_INDICATOR =4 OR DEP_INDICATOR =4) ES_3=1.

RECODE ES_3 (9=SYSMIS).

FREQUENCIES ES_3.

ES_3: WG-SS Enhanced Disability Indicator based on 9 domains and 12 questions
Valid Weighted
Frequency Percent Percent Estimate*

Valid WITHOUT DISABILITY 14393 83.1 85.8 87.7
WITH DISABILITY 2384 13.8 14.2 12.3
Total 16777 96.9 100.0

Missing 549 3.2

Total 17326 100.1

*Weighted estimate provided — but is not part of the SPSS syntax.

HOCTKPUIITYM: noyemy uck/iroueHsbl JoMeHbl boab u Yeranocrs?

Crenyer OTMETUTH UCKIIIOUEHHE JOMEHOB bonu 1 YCTanocTH U3 HeCKOJIbKUX UACHTU(PUKATOPOB
MHBAJIMAHOCTH, yKa3aHHbIX Bbile. B BI' cocTosnack ceppesnas auckyccus 1o 3tuM gomeHam. CTporo
rOBOpsl, OHU HE SABJISIIOTCA JOMEHaMH (DYHKLIMOHUPOBAHUS, U HAIll aHAJIM3 I10Ka3al, YTO OHU 00a CHUIIBHO
KOPPEIUPYIOT C APYTUMU JTOMEHAMH, U YTO [TOKA3aTEIM UHBAIUAHOCTHU IIPU BKIIIOYEHHUH ITUX JTOMEHOB
B OIIPOCHUK MOTYT CTaThb OYE€Hb BBICOKHMH.

Hakonen, ¢ TOUKM 3peHUsT MEXAYHAPOJHONW CONIOCTABUMOCTH, 3TH JIOMEHBI MEHEE YHUBEPCAIBHBI; TO
€CTh OHHU 00Jiee BOCHIPUUMYMBBI K MECTHOMY COLIMOKYJIbTYPHOMY BIIMSHUIO, YEM JIpyTHe Cephl
NEATENBHOCTH.

Ilo 3TuM npUYMHAM MBI PELIMIIA UCKIOYUTh UX U3 HECKOJIBKUX TAKMX aHAJIN30B, XOTS UX MOXKHO
BKJIIOYATh B JONOJHUTENBHBIE ONpOckl, TpoBoauMble HCY B KOHKpeTHOI cTpaHe.
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